P 2K EURE V= RN
2 ARfI3R e & ik e ¥
SFP A ¢ EXFI10£01° 01p 2 111#04% 30p ML SOk
i i L/ . B R
RTINS ¥R £ £33 A0 M@mg: /w\;’fai%iﬁ“ﬁt
. T L P N Mismg | AR (D)=(1)-(2)~(3)
|| P & RELE LA e () & 5 ot /13 &3 1) R @) —
FoA e | TEAEE {3 (x;ﬁii&)
10 0057000000-9
AR
03 0057250000-6 12,566,000 0 12,566,000 8,176,000 0 2,120,240
Hh R Rk 0 0 6,055,760 0
0 0 0
01 6557254000-3 12,566,000 0 12,566,000 8,176,000 0 2,120,240
EICIACE 0 0 6,055,760 0
0 0 0
01 6557254010-7 12,566,000 0 12,566,000 8,176,000 0 2,120,240
HEREEINL A 2 AR T 0 0 6,055,760 0
0 0 0
20 12,566,000 0 12,566,000 8,176,000 0 2,120,240
EBE 0 0 6,055,760 0
0 0 0
& 12,566,000 0 12,566,000 8,176,000 0 2,120,240
0 0 6,055,760 0
0 0 0




Fodir spu] R4

EF AT ¢ ERRIIIEQNL2 0l 21112047 30p H .37 %=
ERE Ok SRR A <
g P
R B F IR L2

20 FEELE 6,055,760 6,055,760
2036 {#HIE A ETE S 47,500 47,500
203610 HfEER 47,500 47,500
2039  ZEREr 6,000,000 6,000,000
203915 ZatimH 6,000,000 6,000,000
2054 —EBE 4,700 4,700
205415 —MEEEE 4,700 4,700
2072 EAIRE 3,560 3,560
207205 BANRE 3,560 3,560
o 6,055,760 6,055,760




LR J}G:P‘Taw

/J.‘

FAHES

S SRE IR A K
AAGFIIRY &R R F
o B B AT &

SR ¢ =3 EI110£012 01p 2111#047 30F Hi g i~
- - F‘;j | ("g)&f‘;“)’\ét) e
19 3B 4 38 7 o E Eot v =(1)+ .
R i A pi | mdmms | prog |[TEECOHO Sk | G | PP
Ey e
(2 3 1) (5 () (8) +(6)H(T)-(8) L]
et 0 0 6,055,760 2,120,240
St 0 0 6,055,760 2,120,240
~ REEKE 0 0 6,055,760 2,120,240
6557254010
SR A 2SS 0 0 6,055,760 2,120,240
~ . GERE 0 0 0 0
DU 0 0 0 0
—~ LUBTRRE B % 0 0 0 0
= BEDFTEEUARL 0 0 0 0




kRO A AEE R R R 3 R
CERCAELAIEE R

S
¢ E3 F111E047 307 e
" p : ﬁi‘ 8w . p : # T
1 BE 2,031,693|3 FEE 2,031,693
6 e EE 2,031,693 31 EEEAEFHE 2,031,603
160102  EEASHHS 2,031,693 310101 HE&MFH 2,031,693
& 2 2,031,693 & S 2,031,693

i




SRR il P S TR R R
B2 AR TN &R g %
'EPSE S *
P EARLIIOEON? 01p 21112047 30p Hiard Hr

% i
I
LR S ke
WA 0 6,055,760
DEBAY 0 6,055,760
it 35,269 4,024,067
EH 0 3,918,260
E - TR 35,269 105,807
WSz BR At -35,269 2,031,693




A

(F2)/ & B F 3=
(2)

&R DT EGE)
LR T Rk
(5)

HAER £%8
(6)=(1)+(2)+(3)
-(4)+(5)

REIRE
b
T RY)
RERERRE
Wi K s B
RBEREBWRE
IR A
Wikim R EEEE
]

A1)

HEEE

HEERUR

TIREE

/) =

o O O OjJ]o O O O O O O O o o

2,137,500
0
0
0
2,137,500

o O O OjJ]o O O O O O O O o o

105,807
0
0
0
105,807

o O O OjJ]o O O O O O O o o o

2,031,693
0
0
0
2,031,693

PN =
[

o]0 O O O O O O O O]J]o o o o O O o o o o

2,137,500

105,807

o]0 O O O O O O O O]J]o o o O O O O o o o

2,031,693

Hir AER DS ARFH B2, 137,500~ >

e 7

0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
o

REFREZIE o




ﬂ#ﬁ&ﬁﬁﬁﬁéﬁﬁéﬁﬁﬁﬂMﬂ#
A AR LR R E
—?—r*if”"tag"""]{x*‘fﬁ@z\

1102017 0lp 2111#047 30p Hifrg o~
FEAEP SRR B3 S gt g4
A 6,055,760 6,055,760[ug A
6,055,760 6,055,760 /\EREE A E
7S ON FRARIA
EITOSEE L/ ON EIOSEE LI ON
S CLON S (LN
RAZEHA FA VSR
BERGREERA el
EL VL LIVON EL VST LIVON
HAtl A HAtA
dan 6,055,760 -2,031,693 4,024,067 7 H,
L ARPAYER 1
NEH NS
ERE 6,055,760 -2,137,500 3,918,260| ZEHKTH
RN BN
ax i B AR
M EETR
G U
{E il L2 P R T
105,807 105,807 #7EE ~ PrHE R SN
HoAh 57
R -6,055,760 8,087,453 2,031,693 g54d:

et — ~ AEBARGRHERE - = ERERRRGLIMEEATIAEE - = - T

PTRE RS (A E R 111524 H 2 B35 %105,8077C -




